P9t B gl 8| R 2ok

1 |4mig | AEHEE 5| A | 511001154
2 |4migh | AEHEE S|HARA 1| 511003105
3 |4mEER | AEHEE S| A 1] 511002139
4 |4miE gigﬁ%ﬁ 4 FRRPU 2] 511103211
5 |4mEEh | AEHEE 4| FHEEVU 4] 511101432
6 |4mig | AEHEH 4| FEEVU 4] 511101419
7 |4miE | A EHEE 4| HFEM 1 511101152
8 |dmiHh | AEHES 4| FEEPU 3| 511101332
9 |4miE | AEHEH 4| FEEVU 4] 511101429
10 |4miEd  [AEHEEE 4| FHRVY 1 511103129
11 |4miEd (A EEE 4| FEEDU 4 511101450
12 |4meE (A EEE 4| FEEPU2[ 511101255
13 |4miEd (A EEE 4| FEEPU 3| 511101334
14 |4gEEH gigﬁ%ﬁ 3| FAR= 2 511203203
15 |4migH gigﬁ%ﬁ 3| FAR= 2 511203210
16 |4migd | AHHEE | FE= 4 511201402
17 |4migd | AHEHEE | F#E= 3] 511201310
18 |4migd | AHHEE | F#E= 3] 511201322
19 |4migd | AHHEE | F#E= 4 511201410
20 |4miE | EHEE 3| HEE=3 511201339
21 |4miEE [AEHHEEE 3| HE= 511201121
22 |&GmiEd | A EHEE 3| HEE=3[ 511201329
23 |&miEd | A HEHEE 3| HEE=2 511201226
24 |4miEE [AHEHHEEE 3| A= 511201130
25 |4miEd | A EHEE 3| HAR= 511203143
26 |&miE | A EHEE 3| At = 511202117
27 |GmiE | EHEE | HEE= 4 511201431
28 |4miE | A EHEE 3| At = 511202140
29 |4miEE  [AEHHEEE 3| = 511201342
30 |4miEh | A EHEE 3| At = 511202157
31 |4miEh | A EHEE 3| HAR= 511203128
32 |4miEh | A EHEE 3| At = 511202143
33 |4miEh | A EHEE | HEE= 5| 511201522
34 |4migh | A EHEE 2| FiEE— 4 511301406
35 |4miEh | A EEHEE 2| FEE— 3| 511301318
36 |4mEEE [ EHEE )t — 1 511302119
37 4R |[AEHEE )t — 1 511302156
38 |4miE | A EHEE ] AR 1| 511303109
39 |4mEEd | A HEE 2| s 3| 511301339
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